Name: Date:

Teacher/Period: Final Grade: /40
Adding Three Numbers
Question 1 (Multiple Chaice) Question 2 (Multiple Choice) Question 3 (Multiple Choice)
/0 £10 F10
Farm Animal Count: A farmer has 4 Toy Collection: Mia has 3 toy cars, Fruit Basket: There are 6 apples, 3
chickens in one coop, 5 in another her brother gave her 7 more, and oranges, and 4 bananas in a fruit
coop, and & in a third coop. How their friend gifted her 5. How many basket. How many pieces of fruit
many chickens does the farmer toy cars does Mia have now? are there altogether?
have in total?
A5
A4 B. 16 A0
E.2 C.18 B.12
C. 11 D.12 cn
D. 15 D. 15
Question 4 (Short Answer) Question 5 (Short Answer)
RS {10
Birthday Balloons: At a birthday Playground Count: On the
party, there are 5 red balloons, 8 playground, 2 kids are on the
blue ballocns, and 3 yellow swings, 3 are playing tag, and 7 are
balloons. How many balloons are climbing on the jungle gym. How
there in total? many kids are on the playground in
total?

Answer:

Answer;




Answer Key for Adding Three Numbers

1:15
2: 15
313
4:16

5:10



